From:	A. B. Schwarzkopf,


	Instructor





Subj:	Mervyn’s, due _________.





The CEO picked up the Mervyn’s case article from an airline magazine he was reading on his last business trip.  He has asked the CIO to explain why your company does not do IS development the way Mervyn’s does.  You have been assigned the job of responding.  Include the following:





In what ways does the development approach used by Mervyn’s with the PSI project differ from the traditional SDLC approach?


The development approach Mervyn’s used can be a very risky strategy to follow.  What are these risks?


Mervyn’s did a number of things to reduce the risk involved with the PSI project.  Identify a few of these risk-reducing actions.





List all key points on the first page.  You may expand them later, but critical points must appear early.  Use no more than three pages total.  


